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(Trigonometric Functions)
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*“*A mathematician knows how to solve a problem,
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33 freurfada wes (Trigonometric Function)
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cosec x 4 4 — _
sec x 4 — _ +
cot x + = + =
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JETETUT 9 cos (—1710°) T HE MG it

&1 B9 WA € T cos x & WA H SiaRIel 27 A 360° o UvEN TGN Bl 81 safery
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64 Tforg

frefafad wel o ofe 3= S Sl &1 49 6 S
1. cosx =~ xk wgete e

2. sinx=§,x{ﬂia§ufmﬁﬁ%%|

3. coty= g g # feom

4. secx=%,xa§ﬁa§ufmﬁﬁ%%|

5. tanx=—%,x§:{:ﬁ gt & fer &

U9 & 6 F 10 °F HF I HIST:

6. sin765° 7.  cosec (— 1410°)
. tan 3 . sin (— 3 )
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10. cot (— T)

34 < WUN F AT AR W T FrewroriudE e (Trigonometric
Functions of Sum and Difference of two Angles)

TH 90 H B9 T WEeASA (FIUN) F AN TS AR o foq BHrepioiidE wem qen s
Geiferd STeh! il =1 | 30 Gad B 3 gt IRomH i en S gdafaent
FE T 2@ §

1. sin (—-x) =—-sinx
2. ¢os (—x) =cos x
9 T F9 R qiomm fag

3. cos (x +y) = cos x cos y — sin x sin y

3HE g9 W foar FifS, fSwet % ga foig W 8l w6 ®i0 P,OP,, x qen
TP OP,, yT @ HIUIP,OP,, (x +y) B TA: HFN HIW P,OP,, (- y) €l o1@: P, P,
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P, (cos x, sin x)

— <

P,(1,0)
> X

e
X'<€

P, [cos(x + y), sin(x + y)]

P;[cos(-y), sin(-y)] ~——]

A\ 4
Y’

3R 3.14
P, qa P, CIREENIED P (cos x, sin x), P, [cos (x + y), sin (x + )], P, [cos (- y), sin
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PP, SR 21 3 G 1 IWM FH W
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THfAT, 2 —2 (cos x cos y — sin x sin y) =2 — 2 cos (x + )

3Td: cos (x +y) =cos x cos y — sin x sin y
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4. cos (x —y) = cos x cos y + sin x sin y
AR 3 § y o WM W -y WA W

cos (x + (—y)) =cos x cos (—y) — sin x sin (— y)
A cos(x—y)=cosxcosy+sinxsiny
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5. cos (E_x) = sin x

Wﬁw4ﬁx$wmgamyéawmxwﬁquﬁ%

T T T .
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2 2 2
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sm(E—x):cos E‘Bi‘x%=cosx.

7. sin (x + y) = sin x cos y + cos x sin y
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= cos (E—X) cos y + sin (E—X)smy
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cos (TT—x) =—cos x sin (TT— x) = sin x
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sin(x +y)  sinxcosy+cosxsiny
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an (x +) cos(x+y)  cosxcosy—sinxsiny
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COSXCOS) COSXCOSY
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COSXCOSy _ sinxsiny
COSXCOSy COSXCOSYy
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tan x —tan y
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FAIfh x, y A (x + y) BN H F g o EWWW%,WQHL sin y
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sin 2x = 2 sin X COS X.
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: sin 2x = )
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18. cos 3x =4 cos’x — 3 cos x
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= C0s 2x €0S x — sin 2x sin x
= (2cos’x — 1) cos x — 2sin x cos x sin x
=(2cos’x — 1) cos x — 2cos x (1 — cos’x)
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2tan x
_ tan2x+tanx 1—tan® x
1—tan 2x tan x I—M
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_ 2tan x + tan x — tan’x _ 3tanx — tan’x

1 — tan’x — 2tan’x - 1 —3tan’x
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20. (i) cos x + cos y = 2cos oS .
(i) cos x — cos y = — 2sin ’“’Tysinu
(iii) sin x + sin y = 2sin +y cos X7
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cos (x + y) =cos x cos y — sin x sin y
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2 2
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A T 98] = .’asinEsecE—4sinEcotE
6 3 6 4
3 ! 2 —45j [TC TEJ 1=3—-45i I
= X — X — - | X = — —
> sin 5 sin p
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= sin 45° cos 30° — cos 45° sin 30°
S LB 11 B
V22 22 22

131
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Cos 7x + €08 Sx
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T iR 20(i) 92 20(iv) 1 ST HH W, TH UM &,

Tx+5x Tx—5x
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T 89 UM ¥,
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sin2x  2sinxcosx
Tag =i
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12. sin? 6x — sin?4x = sin 2x sin 10x 13. cos? 2x — cos? 6x = sin 4x sin 8x
14. sin2 x + 2 sin 4x + sin 6x = 4 cos” x sin 4x
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18. = tan 19, ——— = tan2x
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:l cos(2x+£ +cos(2x—£ —cos(%+3x —cos(9—x—3x
2 2 2 2 2

1] 5x 3x 15x 3x | 1] 5x 15x |
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N | =
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5. sinx + sin 3x + sin 5x + sin 7x = 4 cos x cos 2x sin 4x

X
4. (cosx— cos y)* + (sinx—sin y)* = 4 sin’

. (sin 7x + sin 5x) + (sin 9x + sin 3x) —tan 6
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¢ sin (E—x)=cosx
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cos (T +x) =—cosx sin (T +x) =—sin x
cos (2t —x) =cos x sin (2m —x) =—sinx

* Wﬁx,yaﬁw(xiy)ﬁ@aﬁéwgaﬂﬁrWWHﬁ%,aﬁ

tanx +tany
tan (x +y) =

I —-tanxtany
tan x —tan y
tan (¢ =y} = 1+ tanxtany

* Wﬁx,yﬁ?(xiy)ﬁﬁaﬁﬁwnaﬂquﬁ%,ﬁ

cot xcot y—1

GOt (¥ +y) = cot y +cotx

cotxcot y +1
¢ cot(r—y)= cot y — cotx

. . 1 - tan’x
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